SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| 0ot
MATHEMATICS / 7Tfora

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfePpad 3w : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

Two rational numbers between % and 5/3 are :
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5.

(A) 1 and 2 (B) 15 and 24

(©) Ygand 7 (D) 24 and 44
24, e 5/, & < < it Hem & ;

(A) Y % (B) J7em
© w7 (D) 257 4

Which of the following is a trinomial in x ?

(A) x3+1 (B) x3+x2+x
(C) xJx + Jx +1 (D) x3+2x
Freferfa # & # & x § forodt #2

(A) x3+1 (B) x3+x2+x
(C) xJx +Jx +1 (D) x3+2x

A cubic polynomial is a polynomial with degree :

(A) 1 (B) 3 © 0 (D) 2
THEIT IgIG I8 FgUS & S I Fa © ¢«
(A) 1 (B) 3 © 0 D) 2

The zeroes of the polynomial p(x) = (x —6) (x—5) are :

(A) —6, -5 (B) —6,5 (C) 6, -5 (D) 6,5
aET p(¥) = (x —6) (x—5) F =R T -

(A) —6, =5 (B) —6,5 (C) 6, -5 (D) 6,5

In the figure, AOB is a straight line. The measure of ZCOD is equal to :
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(A)  60° (B)  80° €  120° (D)  160°

fost § AOB U W ¥@1 81 ~COD I 919 8T

(A)  60° (B)  80° C  120° (D)  160°

The exterior angle of a triangle is equal to the sum of two
(A) Exterior angles (B) Interior angles
(C) Interior opposite angles (D) Alternate angles
foRat 19T 1 ST 101 < ATV % AT F X SA G| T SRR

(A) === (B) Tafism o

(C) =@ aT=ifes v (D) TR &

The sides of a A are 7 cm, 24 cm and 25 cm. Its areais :
(A) 168 cm’ (B) 84cm’
(C) 87.5cm? (D) 300 cm?
Ife T Iy ot e 7 DA, 24 AW, @R 25 AL &, A ST SR B -

(A) 168 F.7.2 (B) 84w’

(C) 87.5a#? (D) 300 @.+.?

The sides of a triangular plot are in the ratio 4 : 5 : 6 and its perimeter is 150 cm. Then
the sides are

(A) 4cm,5cm, 6cm (B) 40cm,50cm, 60 cm
(C) 8cm,10cm, 12 cm (D) 120cm, 150 cm, 180 cm
T TSR e &l YT 4 : 5 : 6 % 319 | € SR 3qeh1 uftara 150 I, &, o ofonetl o6t 719 gft -

(A) 437,53, 635 (B) 4037, 50 ¥, 60 T4,
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10.

11.

12,

13.

(C) 8d7, 10 ¥4, 12 .. (D) 120 @+, 150 A7, 180 J.H.

Section-B

Question numbers 9 to 14 carry two marks each.

Evaluate : (g)‘/z
49
_3
i (8]

Using factor theorem, prove that g (x) =x2 — 4 is a factor of p(x) =x3 —3x2 — 4x + 12.

TURRES W 1 WA & 5, fag Fu e g () =x2 — 4, ;e p(x) =x3 —3x2 —Ax+ 12 T TH
TGS ¥ |

Evaluate using a suitable identity ; (999)3.

IR A F W F (999)3 w1 wE I FHifm

In figure, OP bisects ~BOC and OQ bisects ~AOC. Show that ~POQ=90°

<
<

A
3TeRfa H, s OP, ~ BOC =1 Tmfgyrsiah  aen s 0Q, £ AOC =1 Tufgyrsa ¢ 1 Twisy fo
ZP0OQ=90° %I

In the given figure, D is the mid-point of base BC, DE and DF are
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perpendiculars to AB and AC respectively such that DE=DF. Prove that
/B= «C.

A

B D C

¢ ¢ smepfa #, 3R BC &1 wen fag D & e DE 3R DF swmw: AB 3R AC W 38 YR o/ a1d &
f&« DE=DF. fag=ifswfs «B= ~C.

OR
An angle is equal to five times its complement. Find the measure of the

angle.

Teh ShI0T ST JToh ShI0T T Ui T[T § | ShTOT T HTY 1 Shifery |

13- Write the co-ordinates of A, B, C and D from the following figure :

X'—d — X

D

Y
=1 eRfa #, i @ fagsti A, B, C aan D & ficwnies d sife :
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15.

16.

17.

Section-C

Question numbers 15 to 24 carry three marks each.

Find the value of :

4 1
-2 =3
(216)3  (256) 4
A I HiT
4 3 1
-2 -3
(216)3  (256)4

OR
o 874
Simplify : |5 8% 1275
o B4
WA SN : |5 8% +27%

Express m with rational denominator.
1 . .

— I RE WA o B H ST hifog

v -F B Tl STeh o &9 H oo |
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OR
Factorize :3—27 (a— b)z.

3—27 (a—b)2 ¥ orrET FfT

18. If [x + 1] =9 then find the value of x° + 1

X x3

afc:[x+1]=9 3@ K +%wmaﬁﬁﬁm|

X X

19.  In the figure below, AB=AC, DB=DC. Prove that ZABD = ZACD.
A

B C

stefd § AB=AC, DB=DC %\ fag =ifst fif LZABD = ZACD

A
B C
OR
In the figure given below, if PQ||RS and ZPXM =50° and ZMYS=120° find the
value of x.
& x 9,
50°
(x—20°) (M
a3 120° 3 >
R Y &8

= srpfa #, afg PQ||RS @en ZPXM = 50° @en ZMYS =120° &, < x 1 511 I1d &It |
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) X Q
50°

(x—20°) (M

A

>
>

120°
'R Y S

>
P>

20. In the given figure, POQ is a line. Ray OR _L PQ, OS is another ray lying between rays
OP and OR. Prove that ZROS = % (£Q0S — £POS).

<
<

%
>

p O Q
& TR TRt H, POQ T &Rt W@ €, for OR L PQ, f&¥or OS feeor OP i OR & =i H feerd 1

fag IS £R =% (£QOS — £POS) .

—>
7

p o o)

A

21. AB s a line segment and P is its mid-point. D and E are points on the same side of AB
such that ZBAD = ZABE and ZEPA= ZDPB. Show that ADAP=AEBP.

AB T& Y@m@vs ¢ a1 P 39 1 "iem fag §1 fag D e E o AB &I T & fown H 39 R ¥ %
/BAD = /ABE &1 ZEPA= /DPB. <& fo&& ADAP=AEBP.

E D

A/= } B

ABC is an isosceles triangle with AB=AC. P and Q are points on AB and AC respectively
such that AP=AQ. Prove that CP =BQ.
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23.

24,

T Tufgarg st ABCH AB=AC| AB A AC R&we: fag P aan Q@ R & f AP=AQ | fag
ifere f& CP = BQ.

A

B C

In figure, prove that ABJ|EF.

tr
Yy

st ¥, frg it 5 ABJ|EF.

A B
650

tri
Yy

145°
300

35°

0
oy

The sides of a triangular ground are 5m, 7m and 8m respectively. Find the cost

of levelling the ground at the rate of Rs. 10 per m2. (use 3=1.73).

T TR T # e e 5w, 7 @ qmn 8 W1 3w iem @ 10 w ufd W2 # ) § guaa
=1 = F He 1 (/3=1.73)

Section-D

Question numbers 25 to 34 carry four marks each.
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25.

26.

27.

28.

29.

30.

Rationalize the denominator of

4
2+ 3+ 7

4
m%aww&ﬁaﬁwﬁm|

OR
Ifa=7—4 3, find the value of \/a + 1
Ja

aﬁia=7—4«/§%,aﬁ\/§+% 1 T 1 RIS
a

Express 2.36 +0.23 as a fraction in simplest form.

2.36 + 0.23 =l TeaH 4951 & ®9 H oFer hiteT |

Simplify : (5a+3b)3 — (5a—3b)3

e FRT : (5a +3b)3 — (5a—3b)3

If x2+ iz =34, find x°+ % -9,
X X

(considering only +ve values of x + 1) .
x

1
x2

Itz x2+

X

Factorise a/ + ab®.
TorETE Ffe a/ + abb.

OR
Factorise : 3u3 —4u2—12u+16

T #ifw ;. 3ud —4u2—12u+16

(i) Plot the points A (0,4), B(—3,0), C(0,—4), D (3,0)

34 &, @ x3+l3—9 aﬂﬂﬁaﬁaﬁﬁl‘q(x+1 1 hadl YA HH é'rn%j
X
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(i) Name the figure obtained by joining the points A, B, C, D.

(iii) Also, name the quadrants in which sides AB and AD lie.

(i) =rdta e e 9 fog A (0,4), B(—3,0), C(0,—4) kD (3, 0) =i smeifiaa wifs |
(i) A, B, C &R D fogafi =i fiam ® =+t emsfa ABCD &I 99 &t aarsd |

(iii) 95T AB iR AD for wiqafer ¥ feom §72

The sides AB and AC of AABC are produced to points P and Q

respectively. If bisectors of PBC and QCB intersect at O. Prove

that BOC =90 — %A.

st ABC &t osmsft AB aean AC &t fag P den Q ae sigran = 71 afs PBC @en QCB &
w@wﬁg@mﬁaﬁafa@aﬂmBOCﬂO—%A.

ABCD is quadrilateral in which AB=BC and AD=CD. Show that BD bisects both the angles
ABC and ADC.

ABCD W& =gy & fSaf AB=BC 3R AD=CD. <¥Iizu f& BD SHI ®Ivli ABC @ ADC @l
SRIECISCERA

AABC is an isosceles triangle with AB =AC. Side BA is produced to D such that AB=AD.
Prove that ~BCD is a right angle.

1yt ABC ts wHfgarg fys €, fsad AB=AC &1 <1 BA i fag D T 38 YR oI 71 & ff
AB=AD g fag i f& ~BCD T TH&T |

ABC is a triangle, in which altitudes BE and CF to sides AC and AB respectively
are equal. Show that AABE=AACF. Also, show that AABC is an isosceles
triangle.

A
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fryst ABC # sfierst BE den CF, st saen: osnsfi AC den AB W 2t @ €, 999 81 <oifse f
AABC=AACEF. =5z i gvifsn fof AABC e wmfgamg s @

A
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